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TRk 15EER
ES 7 ok AE I IR AT
N AR 7 v
& B | & # B | & # S| & # R
=l K | 1,145,874 39.9 | 1,062,604 55.5 83,270 8.7 155,088 20.5
T — =r v N 837,507 29.1 532,741 27.8 304,765 31.8 300,659 39.8
F v 7T = 7 22,328 0.8 22,328 1.2 — — 59,050 7.8
7 v 7 17,244 0.6 8,915 0.5 8,329 0.9 64,958 8.6
H 2] * 828,986 |  28.9 266,593 |  13.9 562,392 |  58.7 12,845 1.7
H B — — — — — — —
7 7 U A 1,042 0.0 1,042 0.1 — — 5,102 0.7
RO B 20,262 0.7 20,262 1.1 — — 157,187 20.8
= it 2,873,247 | 100.0 | 1,914,489 | 100.0 958,758 | 100.0 754,891 [ 100.0
CVREDTEND)
TR 164EFEE R
X 7 ok AE I R EH AT
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& B | & # B | & # = | 4 b %
=l * 951,499 34.1 886,499 46.4 65,000 7.4 97,147 21.4
. — v ow 3| 1,023,341 36.7 709,538 37.2 313,802 35.7 162,274 35.7
F v 7T = 7 25,330 0.9 25,330 1.3 — — 6,800 1.5
7 v 7 16,314 0.6 8,902 0.5 7,412 0.8 33,996 7.5
H e * 729,929 26.2 236,026 12.4 493,903 56.1 11,033 2.4
H B — — — — — — —
7 7 U A 1,030 0.0 1,030 0.1 — — 4,710 1.0
RO B 42,146 1.5 42,146 2.2 — — 138,703 30.5
= 7 2,789,591 | 100.0 | 1,909,473 | 100.0 880,118 | 100.0 454,664 | 100.0




